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Percentage – 1 

1. 75% of Rs 1200 is equal to __________. 

a) Rs. 750       b) Rs. 900 

c) Rs. 800       d) Rs. 950 

2. 275% of 2 liters is equal to __________. 

a) 4.5 Liters      b) 5 Liters 

c) 5.5 Liters      d) 6 Liters 

3. 45.5% of 20 kg is equal to __________. 

a) 9 kg       b) 9.1 kg 

c) 9.5 kg       d) 9.01 kg 

4. 8
�

�
 % of Rs. 200 is equal to __________. 

a) Rs. 17       b) Rs. 34 

c) Rs. 19       d) None of these 

5. 65% of 9 liter 700 milliliter is equal to __________. 

a) 6 l 503 ml      b) 6 l 35 ml 

c) 6 l 305 ml      d) None of these 

6. 37 % of 5 kg 400 g is equal to __________. 

a) 1 kg 899 g      b) 1 kg 998 g 

c) 1 kg 989 g       d) None of these 

7. 2 kg 750 g is __________ percent of 15 kg 750 g. 

a) 17.46       b) 17.64 

c) 71.46       d) None of these 

8. 500 ml is __________ percent of 5 liter. 

a) 20       b) 30 

c) 40       d) 10 

9. 75 g is __________ percent of 750 g. 

a) 15       b) 10 

c) 5       d) 20 
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10. 2 minutes 25 second is __________ percent of 1 hours. 

a) 3       b) 3.5 

c) 4       d) 4.5 

 

 


